Allen screw
M8 x 50

Cod. 200461

Aluminium spacer

— - for allen screw M8 -

Cod.204321

@ 92R-01 10400
S

tensile

‘ Short helical spring
Co0d.303949001

Carbon cover
Cod.088720001

2 ScrewT.B.E.I.

| M5x12 Cod.201031

2 Plain Washer
Cod. 406580

4 Gasket @5 x @14
Cod.200371

NERO
BIG Silencer @54

Cod. 3014004471

Art.14051

TRIUMPH TIGER EXPLORER 1200 XR - XC

VISTA DA "A"

dB-killer n.32B
Cod.307762801

BIKE'S FRAME

2 Knurled collar nut M8
Cod.200298

Plain washer @8x@24
Cod. 200321

2 Mounting plate M5
Cod.204555

Rubber cap
Cod.206267

SLIP-ON - NERO - APPROVED

Pipe N° 1145
Cod.3014051201




